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Answers

1. 385

2. 2,255

3. 1,365

4. 4,466

5. 3,162

6. 1,224

7. 1,920

8. 3,510

9. 2,945

10. 3,818

11. 3,481

12. 2,232

Use lattice multiplication to solve each problem.

1)
35 × 11 =

3 5

1

1

0 0

0 0

8 5

3 5

3

0

3 5

2)
41 × 55 =

4 1

5

5

2 0

2 0

5 5

0 5

0

2

2 5

3)
35 × 39 =

3 5

3

9

0 1

2 4

6 5

9 5

7

1

3 5

4)
77 × 58 =

7 7

5

8

3 3

5 5

6 6

5 5

6

4

4 6

5)
62 × 51 =

6 2

5

1

3 1

0 0

6 2

0 0

6

3

1 2

6)
68 × 18 =

6 8

1

8

0 0

4 6

2 4

6 8

8

1

2 4

7)
60 × 32 =

6 0

3

2

1 0

1 0

2 0

8 0

2

1

9 0

8)
39 × 90 =

3 9

9

0

2 8

0 0

1 0

7 1

0

3

5 0

9)
31 × 95 =
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9

5
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5

2

9 5

10)
46 × 83 =

4 6

8

3

3 4
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2 8

2

3

8 8

11)
59 × 59 =

5 9

5

9

2 4

4 8

8 1

5 5

5

3

4 1

12)
36 × 62 =

3 6

6

2

1 3

0 1

3 2

8 6

6

2

2 2
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5 7

3

9

1 2

4 6

2 3

5 1

5

2

2 3
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Answers

1. 1,232

2. 2,312

3. 481

4. 2,754

5. 2,050

6. 4,356

7. 1,400

8. 3,332

9. 583

10. 4,240

11. 1,050

12. 765

Use lattice multiplication to solve each problem.

1)
88 × 14 =

8 8

1

4

0 0

3 3

3 2

8 8

2

1

2 2

2)
68 × 34 =

6 8

3

4

1 2

2 3

1 2

8 4

4

2

3 2

3)
13 × 37 =

1 3

3

7

0 0

0 2

8 1

3 9

7

0

4 1

4)
81 × 34 =

8 1

3

4

2 0

3 0

5 4

4 3

2

2

7 4

5)
25 × 82 =

2 5

8

2

1 4

0 1

5 0

6 0

4

2

0 0

6)
44 × 99 =

4 4

9

9

3 3

3 3

5 6

6 6

6

4

3 6

7)
20 × 70 =

2 0

7

0

1 0

0 0

0 0

4 0

0

1

4 0

8)
34 × 98 =

3 4

9

8

2 3

2 3

3 2

7 6

4

3

3 2

9)
11 × 53 =

1 1

5

3

0 0

0 0

8 3

5 5

3

0

5 3

10)
80 × 53 =

8 0

5

3

4 0

2 0

4 0

0 0

4

4

2 0

11)
14 × 75 =

1 4

7

5

0 2

0 2

5 0

7 8

5

1

0 0

12)
15 × 51 =

1 5

5

1

0 2

0 0

6 5

5 5

1

0

7 5
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4. 2,754
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6. 4,356

7. 1,400

8. 3,332

9. 583

10. 4,240

11. 1,050

12. 765

Use lattice multiplication to solve each problem.

1)
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4
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3 3
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2)
68 × 34 =

6 8
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8 4
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2
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3)
13 × 37 =
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3

7

0 0

0 2
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3 9

7

0

4 1

4)
81 × 34 =

8 1

3

4

2 0

3 0

5 4

4 3

2

2

7 4

5)
25 × 82 =

2 5

8

2

1 4

0 1

5 0

6 0

4

2

0 0

6)
44 × 99 =

4 4

9

9

3 3
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5 6

6 6

6

4

3 6

7)
20 × 70 =

2 0

7

0

1 0

0 0

0 0

4 0

0

1

4 0

8)
34 × 98 =

3 4

9

8

2 3
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3 2

7 6

4

3

3 2

9)
11 × 53 =

1 1

5

3

0 0

0 0

8 3

5 5

3

0

5 3

10)
80 × 53 =

8 0

5

3

4 0

2 0

4 0

0 0

4

4

2 0

11)
14 × 75 =

1 4

7

5

0 2

0 2

5 0

7 8

5

1

0 0

12)
15 × 51 =
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5

1
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1. 2,754

2. 6,900

3. 2,442

4. 2,244

5. 3,393

6. 1,113

7. 4,158

8. 2,212

9. 2,522

10. 1,170

11. 2,028

12. 3,772

Use lattice multiplication to solve each problem.

1)
51 × 54 =

5 1

5

4

2 0

2 0

5 4

5 5

0

2

7 4

2)
92 × 75 =

9 2

7

5

6 1

4 1

0 0

3 4

5

6

9 0

3)
74 × 33 =

7 4

3

3

2 1

2 1

4 2

1 2

1

2

4 2

4)
68 × 33 =

6 8

3

3

1 2

1 2

4 4

8 4

8

2

2 4

5)
87 × 39 =

8 7

3

9

2 2

7 6

9 3

4 1

2

3

3 3

6)
21 × 53 =

2 1

5

3

1 0

0 0

1 3

0 5

6

1

1 3

7)
66 × 63 =

6 6

6

3

3 3

1 1

5 8

6 6

8

4

1 8

8)
28 × 79 =

2 8

7

9

1 5

1 7

1 2

4 6

8

2

2 2

9)
97 × 26 =

9 7

2

6

1 1

5 4

2 2

8 4

4

2

5 2

10)
39 × 30 =

3 9

3

0

0 2

0 0

7 0

9 7

0

1

1 0

11)
78 × 26 =

7 8

2

6

1 1

4 4

2 8

4 6

2

2

0 8

12)
82 × 46 =

8 2

4

6

3 0

4 1

7 2

2 8

8

3

7 2
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4 6
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9)
97 × 26 =

9 7

2

6
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8 4

4

2
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10)
39 × 30 =

3 9

3

0

0 2
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7 0

9 7
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11)
78 × 26 =
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1. 2,365

2. 2,650

3. 4,692

4. 3,212

5. 1,140

6. 8,730

7. 5,022

8. 3,276

9. 1,219

10. 3,034

11. 9,306

12. 4,628

Use lattice multiplication to solve each problem.

1)
43 × 55 =

4 3

5

5

2 1

2 1

6 5

0 5

0

2

3 5

2)
50 × 53 =

5 0

5

3

2 0

1 0

5 0

5 0

5

2

6 0

3)
92 × 51 =

9 2

5

1

4 1

0 0

9 2

5 0

9

4

6 2

4)
73 × 44 =

7 3

4

4

2 1

2 1

1 2

8 2

8

3

2 2

5)
20 × 57 =

2 0

5

7

1 0

1 0

4 0

0 0

4

1

1 0

6)
97 × 90 =

9 7

9

0

8 6

0 0

3 0

1 3

0

8

7 0

7)
81 × 62 =

8 1

6

2

4 0

1 0

2 2

8 6

6

5

0 2

8)
91 × 36 =

9 1

3

6

2 0

5 0

7 6

7 3

4

3

2 6

9)
23 × 53 =

2 3

5

3

1 1

0 0

1 9

0 5

6

1

2 9

10)
74 × 41 =

7 4

4

1

2 1

0 0

3 4

8 6

7

3

0 4

11)
99 × 94 =

9 9

9

4

8 8

3 3

0 6

1 1

6

9

3 6

12)
52 × 89 =

5 2

8

9

4 1

4 1

2 8

0 6

5

4

6 8
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6)
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0
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7)
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2
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8 6

6

5
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8)
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3

6

2 0

5 0

7 6

7 3

4

3

2 6

9)
23 × 53 =

2 3

5

3

1 1

0 0

1 9

0 5

6

1

2 9

10)
74 × 41 =

7 4

4

1

2 1

0 0

3 4

8 6

7

3

0 4

11)
99 × 94 =

9 9

9

4

8 8

3 3

0 6

1 1

6

9

3 6

12)
52 × 89 =
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8
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Answers

1. 630

2. 4,505

3. 4,180

4. 2,964

5. 7,920

6. 722

7. 4,929

8. 2,241

9. 4,320

10. 1,024

11. 798

12. 3,010

Use lattice multiplication to solve each problem.

1)
18 × 35 =

1 8

3

5

0 2

0 4

3 0

3 4

5

0

6 0

2)
53 × 85 =

5 3

8

5

4 2

2 1

0 5

0 4

5

4

5 5

3)
76 × 55 =

7 6

5

5

3 3

3 3

8 0

5 0

5

4

1 0

4)
52 × 57 =

5 2

5

7

2 1

3 1

6 4

5 0

5

2

9 4

5)
80 × 99 =

8 0

9

9

7 0

7 0

2 0

2 0

2

7

9 0

6)
38 × 19 =

3 8

1

9

0 0

2 7

2 2

3 8

7

0

7 2

7)
93 × 53 =

9 3

5

3

4 1

2 0

2 9

5 5

7

4

9 9

8)
27 × 83 =

2 7

8

3

1 5

0 2

4 1

6 6

6

2

2 1

9)
72 × 60 =

7 2

6

0

4 1

0 0

2 0

2 2

0

4

3 0

10)
64 × 16 =

6 4

1

6

0 0

3 2

2 4

6 4

6

1

0 4

11)
38 × 21 =

3 8

2

1

0 1

0 0

9 8

6 6

3

0

7 8

12)
43 × 70 =

4 3

7

0

2 2

0 0

1 0

8 1

0

3

0 0
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11. 798

12. 3,010

Use lattice multiplication to solve each problem.

1)
18 × 35 =

1 8

3

5

0 2

0 4

3 0

3 4

5

0

6 0

2)
53 × 85 =

5 3

8

5

4 2

2 1

0 5

0 4

5

4

5 5

3)
76 × 55 =

7 6

5

5

3 3

3 3

8 0

5 0

5

4

1 0

4)
52 × 57 =

5 2

5

7

2 1

3 1

6 4

5 0

5

2

9 4

5)
80 × 99 =

8 0

9

9

7 0

7 0

2 0

2 0

2

7

9 0

6)
38 × 19 =

3 8

1

9

0 0

2 7

2 2

3 8

7

0

7 2

7)
93 × 53 =

9 3

5

3

4 1

2 0

2 9

5 5

7

4

9 9

8)
27 × 83 =

2 7

8

3

1 5

0 2

4 1

6 6

6

2
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9)
72 × 60 =

7 2

6

0

4 1
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0

4

3 0

10)
64 × 16 =

6 4

1

6

0 0
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2 4
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6

1
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11)
38 × 21 =

3 8

2

1
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9 8

6 6

3

0
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12)
43 × 70 =
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7

0
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